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L (@) State with reasons in brief whether the following ; : Q_x (3trEm
statements are True or False : . . (a) 3 Lotteries authorized by the state government are

. . S ? ‘wagering agreements.
(/)  Minor has no personal liabilities for necessaries BT IE dotermenis.

supplied to him. ‘ ; (&)  Inadequacy of consideration will make an agreement
- , T void.
(i) A contract made on account of love and affection

is valid even without consideration. T J : @iy Al illegal wmawamam are void but all void

; . agreements are not illegal. 9
(iif) Mere silence as to facts is fraud. 9 S

() Explain the agreements which have been regarded as
()  “A quasi contract is not a contract at all. It is an obligation : :

opposed to' public policy. o
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which the _m.é creates”. Comment. m.
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2. @ O “The status of finder of goods is just like a bailee’.
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(4) 7002
(i) . Distinguish between subagent and substituted

agent.

(iii) Prem applied for the post of wlz&mm_ in a school.
He im.m mo_ooﬁ.oa by the selection committee of-the
school but no formal communication was sent to
him. E,o came to know of Em selection through some

.EmEcow of the mo_oo:om committee. PHS the
committee cancelled the mvnomEBmE. Prem filed
a mz: against the selection committee. Will he

succeed ? : 9

() “Agreement in restraint of trade are void”. Critically

_examine the statement giving suitable examples. 6
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(@) ; ) Explain the nature msm extent _80 surety’s :mcEQ.

(¢i) _Abhinav made a promise to denate a sum of-
| W,m. 50,000 to the Secretary of Ram Lila committee.

The secretary in the hope of donation from Abhinav

hires a contractor for constructing stage and incurs

a :mE:Q,om Rs. 30,000. Abhinav later a,mo:so.m to
mo:m‘ﬁm‘ the promised mEoE:..HM Abhinay liable to

pay donation ? If v\@m, to what extent ? 9
(b)  Discuss in detail the doctrine of ‘Supervening/subsequent

1’
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(@ ()  Define the term “Delivery of Goods”. Explain the

different modes ow effective mo=<od\ of goods.

@) A, who is an m.mma of a buyer, had obtained the
moomm from the Railway authorities and loaded the
mooa,m on his truck. In the meantime the Railway
authorities received a notice from B, a seller for
stopping the goods in iransit as the buyer had

~ become insolvent. Referring to the provisions of
mmﬁ of Goods Act, 1930, decide whether the Railway
authorities can stop the goods in transit as

instructed by the seller ?
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A, B and C were joint owners of a truck and the
Possession of the sajd truck was with B, X
purchased the truck from B without knowing that
A and C were also owners of Sm truck. Decide
in the light of provisions of Sale of Goods Act,

1930, whether the sale between B and X is <m:.a

or not ?
9

is ‘Sale’different from ‘An Agreement H.o sell’ 2 6 -
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Or (31

(@ O Define ,n.:o term ‘Goods’ under the Sale of Goods

Act, 1930.

(i)  When is breach of condition treated as breach of

warranty ?

(iif) A agreed to mst& to w,, a certain quantity of timber
of :m_m.m:n:, thickness. The mEvQ actually m:vv:oa
varies in thickness from o:o-ﬁEa inch to méé@:r
inch. ,_,rw Q.EGQ mm.aﬂorwamd_o and commercially
fit for the purpose for which it was ordered. B

rejects the timber. Is his action justified ? 9

®) Ummo:mm. the rules as to passing of property in case of

wvoommo goods. , 6
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(@) (i) ~ Define h:u._érmﬁ are the salient features

" of LLP? : - 6

- (iiy What are the contents of incorporation

document ? i . 3

(b) Discuss the various provisions relating to Designated

Partner urider the LLP Act, 2008. 6
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Or (37xa)

(@ - © cSHovBmu\ file a Petition for winding up of LLP ?
“The court can wind up an LLP on just and equitable

grounds”. Comment. 6

(i) “Every partner of an LLP is an agent of the LLP

only and not of the other partners.” Explain. 3

(b)) Discuss the procedure for conversion from partnership :
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Compare the following :

()  Digital signature and Electronic signature
(#) Cyber contravention and Cyber offences. 9

Explain the provisions of IT Act for grant and revocation

of Digital Signature Certificate. 6
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~ Explain the following :

()  Duties of a Subscriber under the IT Act, 2000
(7)) Hash function
(iiY). Key pair. L 9
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(b)) ~ What is Telecom Dispute Settlement @p@ﬂaaambwl-
(TDSAT) ? Discuss the various provisions relating to
ThsAT - i
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